
 

Paper: 1MA1/2F 

Question Answer Mark Mark scheme Additional guidance  

8 (a) 2, 1 B1 cao 
 

 

 (b) 

 

0, – 2 M1 

 

 
 

for an answer of (0, y) where y ≠ – 2 or (x, – 2) where x ≠ 0 

or the correct midpoint identified on the grid 

or (2 + –2) ÷ 2 or (1 + –5) ÷ 2  

 

   A1 cao 
 

SCB1 if M0 scored for – 2, 0 
 

 

 (c)  C shown at  

(– 4, 2) 
 

C1 cao  

9  379.86 P1 

 

for process to work with number of miles or cost,  

eg 47879 – 47241 (= 638)  

or 47879 × 47 (= 2250313) or 47241 × 47 (= 2220327) 

or [mileage] × 47  

 

working may be seen in £ or pence 

throughout 

 

[mileage] is any value they consider to be 

mileage  

   P1 for process to work with miles and cost,  

eg “638” × 47 (= 29986) or “638” × 0.47 (= 299.86)  

or “2250313” – “2220327” (= 29986) 

 

 

   B1 

 

(indep) for converting between pence and pounds,  

eg “29986” ÷ 100 or 47 ÷ 100 (= 0.47) or 80 × 100 

OR miles divided by 100, eg “638” ÷ 100 (= 6.38) 

or 47879 ÷ 100 (= 478.79) and 47241 ÷ 100 (= 472.41) 
 

 

   A1 for 379.86  
 

 

10  HHH, HHT, HTH, 

HTT, THH, THT, 

TTH, TTT 

M1 

 

 

A1 

for at least 3 correct outcomes from HHH, HHT, HTH, HTT, THH, THT, 

TTH, TTT ignoring extras and repeats 

 

for all 8 outcomes with no extras or repeats 

 

May be written in words 




